




 

  

 

 

 

𝑁𝑅2016

𝑅2016
≤ 1

 

 

𝑆𝐴𝐼𝐷𝐼𝐴𝑆𝑆𝐸𝑆𝑆,2016

𝑆𝐴𝐼𝐷𝐼𝐿𝐼𝑀𝐼𝑇
 ≤ 1

 

 

 

 

𝑆𝐴𝐼𝐹𝐼𝐴𝑆𝑆𝐸𝑆𝑆,2016

𝑆𝐴𝐼𝐹𝐼𝐿𝐼𝑀𝐼𝑇
≤ 1 

 

 



 



 

 

 

 

 

 

 

 

 

 

 

 

𝑁𝑅2016

𝐴𝑁𝑅2016
 ≤ 1 



22,841

22,853
 = 0.999 ≤ 1  

 

 

𝑃𝑇𝐵𝑡 =  ∑ 𝑃𝑇𝑃𝑖,𝑡𝑄𝑖,𝑡

𝑖

−  𝐾𝑡 −  𝑉𝑡 +  𝑃𝑇𝐵𝑡−1(1 + 𝑟)

𝑡 

𝑖

𝑃𝑇𝐵𝑡

𝑃𝑇𝐵𝑡−1

 

 

𝑃𝑇𝑃𝑖,𝑡

𝑄𝑖,𝑡

𝐾𝑡

𝑉𝑡

𝑟

𝐾𝑡

𝑉𝑡

∑ 𝑃𝑇𝑃𝑖,2016 𝑄𝑖,2016

𝑖



 

 

𝑆𝐴𝐼𝐷𝐼𝐴𝑆𝑆𝐸𝑆𝑆,2016

𝑆𝐴𝐼𝐷𝐼𝐿𝐼𝑀𝐼𝑇
 ≤ 1

 

208.16

285.78
= 0.73 < 1

 

255.80

302.38
= 0.85 < 1

279.80

302.38
= 0.93 < 1



 

𝑆𝐴𝐼𝐹𝐼𝐴𝑆𝑆𝐸𝑆𝑆,2016

𝑆𝐴𝐼𝐹𝐼𝐿𝐼𝑀𝐼𝑇
 ≤ 1 

 

 

2.88

3.77
= 0.76 < 1

 

3.98

4.26
= 0.93 < 1

2.67

4.26
= 0.63 < 1



 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 



 





 

 

∑

 

 

∑

 

 



Divided by  

 

 

 

 



 

 









 

 









 

 

274.075 3.529 

274.075 3.529 

242.149 3.086 

210.224 2.642 

13.065 0.183 

 

𝛽𝑆𝐴𝐼𝐷𝐼

𝜷𝑺𝑨𝑰𝑫𝑰

𝛽𝑆𝐴𝐼𝐹𝐼

𝜷𝑺𝑨𝑰𝑭𝑰



𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

 

(𝑃𝑆𝐴𝐼𝐷𝐼 × 0.5) + 𝑈𝑆𝐴𝐼𝐷𝐼

10
 

  

𝑃𝑆𝐴𝐼𝐷𝐼 = 

𝑃𝑆𝐴𝐼𝐷𝐼 = 

 

𝑈𝑆𝐴𝐼𝐷𝐼 = 
 

𝑈𝑆𝐴𝐼𝐷𝐼 =  

  

𝑺𝑨𝑰𝑫𝑰𝑻𝒂𝒓𝒈𝒆𝒕 =  

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

 

(𝑃𝑆𝐴𝐼𝐹𝐼 × 0.5) + 𝑈𝑆𝐴𝐼𝐹𝐼

10
 

  

𝑃𝑆𝐴𝐼𝐹𝐼 = 

𝑃𝑆𝐴𝐼𝐹𝐼 = 

 

𝑈𝑆𝐴𝐼𝐹𝐼 = 
 

𝑈𝑆𝐴𝐼𝐹𝐼 =  

  

𝑺𝑨𝑰𝑭𝑰𝑻𝒂𝒓𝒈𝒆𝒕 =  



𝑆𝐴𝐼𝐷𝐼𝐿𝑖𝑚𝑖𝑡 = 

 

𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 + (𝑆𝐴𝐼𝐷𝐼𝐷𝑒𝑣 × √365) 

  

𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

 

𝑆𝐴𝐼𝐷𝐼𝐷𝑒𝑣 = 
 

𝑆𝐴𝐼𝐷𝐼𝐷𝑒𝑣 =  

  

𝑺𝑨𝑰𝑫𝑰𝑳𝒊𝒎𝒊𝒕 =  

𝑆𝐴𝐼𝐹𝐼𝐿𝑖𝑚𝑖𝑡 = 

 

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 + (𝑆𝐴𝐼𝐹𝐼𝐷𝑒𝑣 × √365) 

  

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

 

𝑆𝐴𝐼𝐹𝐼𝐷𝑒𝑣 = 
 

𝑆𝐴𝐼𝐹𝐼𝐷𝑒𝑣 =  

  

𝑺𝑨𝑰𝑭𝑰𝑳𝒊𝒎𝒊𝒕 =  



𝑆𝐴𝐼𝐷𝐼𝐶𝑜𝑙𝑙𝑎𝑟 = 

 

𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 − (𝑆𝐴𝐼𝐷𝐼𝐷𝑒𝑣 × √365) 

  

𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

𝑆𝐴𝐼𝐷𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

 

𝑆𝐴𝐼𝐷𝐼𝐷𝑒𝑣 = 
 

𝑆𝐴𝐼𝐷𝐼𝐷𝑒𝑣 =  

  

𝑺𝑨𝑰𝑫𝑰𝑪𝒐𝒍𝒍𝒂𝒓 =  

𝑆𝐴𝐼𝐹𝐼𝐶𝑜𝑙𝑙𝑎𝑟 = 

 

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 − (𝑆𝐴𝐼𝐹𝐼𝐷𝑒𝑣 × √365) 

  

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

𝑆𝐴𝐼𝐹𝐼𝑇𝑎𝑟𝑔𝑒𝑡 = 

 

𝑆𝐴𝐼𝐹𝐼𝐷𝑒𝑣 = 
 

𝑆𝐴𝐼𝐹𝐼𝐷𝑒𝑣 =  

  

𝑺𝑨𝑰𝑭𝑰𝑪𝒐𝒍𝒍𝒂𝒓 =  






